



OVER 75
STYLES, COLORS, SIZES
FOR THE WHOLE FAMILY.

CERTIFIED BALTCAMBER
HAZELWOOD
HAZELAMBER
GEMSTONES™
AROMA AMBER

C.P.S.C. COMPLIANT
FOR SAFETY.



Mermaid



Amber
Moon



Unicorn



Cacti
Mini



2018
CATALOG

HEALING
HAZEL
+baltic bébé
happy
teething



NEW PACKAGING ▲

HEALING HAZEL



+baltic bébé



safe release "pop clasp"
C.P.S.C.
compliant for safety



GIA®

certified baltic amber



HEALING HAZEL
+baltic bébé

happy teething™

NATURAL RELIEF • SAFE • EFFECTIVE
LAB TESTED FOR SAFETY COMPLIANCE | GIA CERTIFIED BALTICAMBER
COLLECTIONS FOR THE WHOLE FAMILY

BALTICAMBER anti-inflammatory + soothing
Baltic amber is fossilized resin produced by Northern European trees from 50 million years ago. Now found in the Baltic Sea, it has been used for centuries in Europe, for a variety of ailments. Releasing small trace amounts of succinic acid, Baltic amber's anti-inflammatory and therapeutic properties are recognized by allopathic medicine, as a natural analgesic.

HAZELWOOD + HAZELAMBER alkaline + soothing
Historically, First Nations People of Canada used Hazelwood as a gentle & natural form of relief for their teething children. Overtime, we discovered & learned to appreciate Hazelwood for its soothing properties. In constant contact with skin, the fresh wood (cream colored in appearance) will oxidize overtime as it is absorbing excess acidity. Peeling is normal, but it is best to keep hazelwood out of water.

CERTIFIED BALTICAMBER + GEMSTONES anti-inflammatory + mantras

- amethyst - I am strong, I am zen
- jasper green - I am courageous, I am wise
- tender rose quartz - I am peaceful, I am fulfilled
- turquoise - I am calm, I am serene

AROMA-AMBER aromatherapy for your little love
Naturally porous, the Lava stone absorbs your favorite essential oils, creating a subtle aromatic experience for your baby. Paired with the soothing & anti-inflammatory properties of our Balticamber, it is the perfect way to comfort and soothe your little one.

NOTE: Please refer to our website for more information.

www.healinghazel.com

IMPORTANT: Children wearing any type of jewelry must be supervised by a parent or an adult at all times.

HEALING HAZEL
+baltic bébé

happy teething

Choose :
Individually
packaged
OR
hang tags

new detailed
info card

CERTIFIED BALTICAMBER



ANTI-INFLAMMATORY
SOOTHING



TEETHING - JOINT PAINS
HORMONAL HEADACHES - BODY INFLAMMATION

BABY | CHILDREN



SIZES	W/S	MSRP
5 1/2" anklet	8.25	16.50
10 1/2" necklace	11.25	22.50
11" necklace	11.25	22.50
~12/13" necklace	11.75	23.50

*baby anklet (5 1/2") in polished amber multi, polished honey, cherry, cognac



polished multi



polished honey



polished cherry



polished cognac



raw multi



raw honey



raw cherry



raw cognac

ADULT



SIZES	W/S	MSRP
7" bracelet	10.00	20.00
7 1/2" bracelet	10.00	20.00
~18/20" necklace	17.25	34.50

Polished styles only

DETAILS

- Certified authentic by the Gemological Institute of America (G.I.A.)
- 2 finishes available : polished or raw
- Double knotted between each bead.
- Safe pop-clasp : will open under pressure per CPSC safety standards.
- Keep out of soapy water.
- Please refer to proper sizing guide for adequate size.



Children wearing any type of jewelry must be under parent or adult supervision at all times.

LIMITED EDITION COLLECTION

BABY | CHILDREN

SIZES	W/S	MSRP
10 1/2" necklace	13.00	26.00
11" necklace	13.00	26.00
~12/13" necklace	13.50	27.00

ADULT

- 18/20" necklace 18.75 37.50



Children wearing any type of jewelry must be under parent or adult supervision at all times.



ANTI-INFLAMMATORY
SOOTHING



TEETHING - JOINT PAINS
HORMONAL HEADACHES - BODY INFLAMMATION



DETAILS

The specific colored stones/beads used on the limited edition necklaces are for decorative purposes only.

- Certified authentic by the Gemological Institute of America (G.I.A.)
- 2 finishes available : polished or raw
- Double knotted between each bead.
- Safe pop-clasp : will open under pressure per CPSC safety standards.
- Keep out of soapy water.
- Please refer to proper sizing guide for adequate size.

AROMA AMBER



aromatherapy for the whole family TEETHING - JOINT PAINS
 ANTI-INFLAMMATORY HORMONAL HEADACHES
 SOOTHING BODY INFLAMMATION
 CALMING STRESS RELIEF



LAVA STONE
 DIFFUSES SUBTLY
 ESSENTIAL OILS

BABY | CHILDREN



SIZES	W/S	MSRP
10 1/2" necklace	12.25	24.50
11" necklace	12.25	24.00
~12/13" necklace	12.75	25.50



cherry | howlite



cherry | purple spot jasper



cherry | blue spot jasper



cognac | howlite



cognac | purple spot jasper



cognac | blue spot jasper

ADULT



SIZES	W/S
~18/20" necklace	18.00



Adult styles
cognac



Adult styles
cherry

DETAILS

- Apply 1 drop of pure essential oil to Lava stone. Let dry completely before wearing.
- Certified authentic by the Gemological Institute of America (G.I.A.)
- Double knotted between each bead.
- Safe pop-clasp : will open under pressure per CPSC safety standards.
- Please refer to proper sizing guide for adequate size.

Children wearing any type of jewelry must be under parent or adult supervision at all times.



HAZELWOOD + PENDANTS



ALKALINE + SOOTHING



TEETHING - ECZEMA - PSORIASIS - GERD - ACID REFLUX

BABY|CHILDREN



SIZES	W/S	MSRP
10 1/2" necklace	10.00	20.00
11" necklace	10.00	20.00
12" necklace	11.00	22.00
13" necklace	11.00	22.00

DETAILS

authentic Swarovski crystals & metallic charms



CB-PF-01



CB-PF-02



CB-PF-04



CB-PF-05



CB-PG-01



CB-PG-02



CB-PG-03



CB-PG-04



CB-PG-05



CB-PF-03



Suddenly Royal



Kiss n Teal



Rip Tide

Children wearing any type of jewelry must be under parent or adult supervision at all times.

- 100% authentic Swarovski crystals
- Hazelwood may naturally peel. This does not change or alter its many benefits.
- We use hypoallergenic lobster clasps.
- These necklace will release upon +/-15 lbs of pressure for safety per C.P.S.C. compliancy for children jewelry.
- Please refer to proper sizing guide for adequate size.
- Keep out of water

HAZELWOOD



ALKALINE + SOOTHING



TEETHING - ECZEMA - PSORIASIS - GERD - ACID REFLUX

BABY



SIZES	W/S	MSRP
10 1/2" necklace	9.00	18.00
11" necklace	9.00	18.00

DETAILS

- Hazelwood may naturally peel. This does not change or alter its many benefits.
- We use hypoallergenic lobster clasps.
- These necklace will release upon +/-15lbs of pressure for safety per C.P.S.C. compliancy for children jewelry.
- Please refer to proper sizing guide for adequate size.
- Keep out of water



CB-NO-01



CB-NO-02



CB-NO-03



CB-NO-04



CB-NO-05



CB-NO-06



CB-NO-07



CB-NO-08



CB-NO-09



CB-NO-10



CB-NO-11



CB-NO-12



CB-NO-13



CB-NO-14



CB-NO-15



CB-NO-16



CB-NO-17



CB-NO-18



CB-NO-19



CB-NO-20



CB-NO-21



CB-NO-22



Children wearing any type of jewelry must be under parent or adult supervision at all times.

HAZELWOOD



ALKALINE + SOOTHING



TEETHING - ECZEMA - PSORIASIS - GERD - ACID REFLUX

CHILDREN



SIZES	W/S	MSRP
12" necklace	10.00	20.00
13" necklace	10.00	20.00

DETAILS



CE-NO-01



CE-NO-02



CE-NO-03



CE-NO-04



CE-NO-05



CE-NO-06



CE-NO-07



CE-NO-08



CE-NO-09



CE-NO-10



CE-NO-11



CE-NO-12



CE-NO-13



CE-NO-14



CE-NO-15



CE-NO-16



CE-NO-17



CE-NO-18



CE-NO-19



CE-NO-20



CE-NO-21

- Hazelwood may naturally peel. This does not change or alter its many benefits.
- We use hypoallergenic lobster clasps.
- These necklace will release upon +/-15lbs of pressure for safety per C.P.S.C. compliancy for children jewelry.
- Please refer to proper sizing guide for adequate size.
- Keep out of water



HAZELAMBER



ALKALINE
ANTI-INFLAMMATORY



TEETHING - JOINT PAINS
ECZEMA - PSORIASIS - GERD - ACID REFLUX

BABY|CHILDREN



SIZES	W/S	MSRP
10 1/2" necklace	11.70	23.40
11" necklace	11.70	23.40
12" necklace	11.70	23.40
13" necklace	11.70	23.40



01



02



03



04



05



06



DETAILS

- The best of both worlds ; soothing Hazelwood + anti-inflammatory Balticamber.
- Hazelwood may naturally peel. This does not change or alter its many benefits.
- We use hypoallergenic lobster clasps.
- Please refer to proper sizing guide for adequate size
- Keep out of water.



HAZELAMBER



ALKALINE
ANTI-INFLAMMATORY



TEETHING - JOINT PAINS
ECZEMA - PSORIASIS - GERD - ACID REFLUX

ADULT



SIZES	W/S	MSRP
7" bracelet	11.00	22.40
7 1/2" bracelet	11.70	23.40
16" necklace	14.40	28.80
18" necklace	14.40	28.80



CB-AN-01



CB-AN-02



CF-AN-03



CF-AN-04



GREAT FOR
EXPECTING
MAMAS

DETAILS

- The best of both worlds ; soothing Hazelwood + anti-inflammatory Balticamber.
- Hazelwood may naturally peel. This does not change or alter its many benefits.
- We use hypoallergenic lobster clasps.
- Please refer to proper sizing guide for adequate size.
- Keep out of water.

HAZELWOOD



ALKALINE - SOOTHING

TEETHING - ECZEMA - PSORIASIS - GERD - ACID REFLUX

ADULT



SIZES	W/S	MSRP
6 1/2" bracelet	9.00	18.00
7" bracelet	9.00	18.00
7 1/2" bracelet	9.00	18.00
8" bracelet	9.00	18.00
8 1/2" bracelet	11.75	23.50
16" necklace	11.75	23.50
18" necklace	11.75	23.50
20" necklace	12.60	25.20
22" necklace	12.60	25.20

DETAILS

- 100% authentic Swarovski crystals
- Hazelwood may naturally peel. This does not change or alter its many benefits.
- We use hypoallergenic lobster clasps.
- Keep out of water



BP-NO-01
CF-NO-01
BC-NO-01



BP-NO-02
CF-NO-02
BC-NO-02



BP-NO-03
CF-NO-03
BC-NO-03



BP-NO-04
CF-NO-04
BC-NO-04



BP-NO-05
CF-NO-05
BC-NO-05



BP-NO-06
CF-NO-06
BC-NO-06



BP-NO-07
CF-NO-07
BC-NO-07



BP-NO-08
CF-NO-08
BC-NO-08



BP-NO-09
CF-NO-09
BC-NO-09



BP-NO-10
CF-NO-10
BC-NO-10



BP-NO-11
CF-NO-11
BC-NO-11



BP-NO-12
CF-NO-12
BC-NO-12



BP-NO-13
CF-NO-13
BC-NO-13



BP-NO-14
CF-NO-14
BC-NO-14



BP-NO-15
CF-NO-15
BC-NO-15



BP-NO-19
CF-NO-19
BC-NO-19



BP-NO-20
CF-NO-20
BC-NO-20



BP-NO-21
CF-NO-21
BC-NO-21



BP-NO-16
CF-NO-16
BC-NO-16



BP-NO-17
CF-NO-17
BC-NO-17



BP-NO-18
CF-NO-18
BC-NO-18



BP-NO-22
CF-NO-22
BC-NO-22



BP-NO-23
CF-NO-23
BC-NO-23



BP-NO-24
CF-NO-24
BC-NO-24



HAZELWOOD



ALKALINE + SOOTHING



TEETHING - ECZEMA - PSORIASIS - GERD - ACID REFLUX

ADULT



SIZES	W/S	MSRP
6 1/2" bracelet	9.00	18.00
7" bracelet	9.00	18.00
7 1/2" bracelet	9.00	18.00
8" bracelet	9.00	18.00
8 1/2" bracelet	11.75	23.50
16" necklace	11.75	23.50
18" necklace	11.75	23.50
20" necklace	12.60	25.20
22" necklace	12.60	25.20

ankle bracelets available upon request

DETAILS

- Hazelwood may naturally peel. This does not change or alter its many benefits.
- We use hypoallergenic lobster clasps.
- Keep out of water.



BH-NO-01
CH-NO-01



BH-NO-02
CH-NO-02



BH-NO-03
CH-NO-03



BH-NO-04
CH-NO-04



BH-NO-05
CH-NO-05



BH-NO-06
CH-NO-06



BH-NO-07
CH-NO-07



BH-NO-08
CH-NO-08



BH-NO-09
CH-NO-09



BH-NO-10
CH-NO-10



BH-NO-11
CH-NO-11



BH-NO-12
CH-NO-12



BH-NO-13
CH-NO-13



BH-NO-14
CH-NO-14



BH-NO-15
CH-NO-15



BH-NO-16
CH-NO-16

